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1. What is the main virtue for using single Bus structure?
r . . c : . . MC(Os — Database Svstems
A. Cost effective connectivity and ease of attaching peripheral devices S S R
B. Fast data transfers 1CQs — Computer Network
C. Cost effective connectivity and speed MCQs Data Structures
D. None of these MCQs-Computer Science Basics
1CQs — Computer Science
L] Answer - Click Here: ~0s — Enalis
LS — 1g1sn
A ICQs — Biology
1CQs — Everyday Science
1CQs — General Knowledge
2. is the advantage of a single bus over a multibus: M e —hahe=
A. High operating speed D
ey — 1Md 1o
B. Flexibility in attaching peripheral devices o
MCQs — Physics
C. Low cost e :
D.BothB&C e
MCQs — Economics
] Answer - Click Here: MCQs — Statistics
1CQs — Programming C Plus
D lus
1CQs — Ethics
; . i : CQs — Visual Programming
3. In various devices, are used to overcome the difference in data ) - -
tra"sfer speed: LASY T 0 |"__,|:-: o | | 8 5 cued | L ot
i MU D — Social Shidiec
A. Multiple Buses ced T ol 2
B. Buffer registers 1CQs — Communication skills
C. Speed-enhancing circuitry MCQs - Genera
D. Bridge circuits Engineering MCQs Homepage
Psycholog CQs
A - Click Here: : o=
SR RN, AR R T Philosophy Of Science

B

4. Why is an extra clock needed in serial communication?
A. To make efficient use of RS-232

B. To synchronize the devices

C. For programmed baud rate control

D. None of these

[ Answer - Click Here:

C

5. What do we use to extend the connectivity of the processor bus?
A. PCI bus

B. Multiple bus
C. SCSI bus

D. Controllers

1 Answer - Click Here:

A
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6. The idle situation occurs in which of the following instruction bus?
A. INX H

B. DAA

C. H

D. DAD RP

1 Answer - Click Here:

D

7. What does a bus standard developed by IBM for their line of computers 'PC
AT’ called?

A. M-bus

B. ISA

C. IB bus

D. None of these

1 Answer - Click Here:

B

8. What is the addressing called that is used in an instruction of the form ADD
XYis?

A. Indirect

B. Index

C. Absolute

D. Immediate

(] Answer - Click Here:

C

9, is the bus used to connect the monitor to the CPU:
A. Memory bus

B. Rambus

C. PCI bus

D. SCSI bus

1 Answer - Click Here:

D

10. Through which technique, the speed imbalance between memory access
and CPU operation can be reduced?

A. Memory interleaving

B. Cache memory

C. Reducing the size of memory

D. Both A&B

1 Answer - Click Here:

D

11. What does ANSI stand for?

A. American National Standards Institute
B. American Network Standard Interfacing
C. American Network Security Interrupt
D. American National Standard Interface

(] Answer - Click Here:

A
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12. does not need extra hardware for refreshing of DRAM:

A. Motorola — 6800
B. 8085

C.Z-80

D. All of these

] Answer - Click Here:

C

Next Page Previous Page

Prof. Fazal Rehman Shamil -
CEO @ T4Tutorials.com

I welcome to all of you if you want to discuss about any topic. Researchers,
teachers and students are allowed to use the content for non commercial offline
purpose. Further, You must use the reference of the website, if you want to use
the partial content for research purpose.

T4Tutorials.com Copyright © 2020. All Copy Rights Reserved By T4Tutorials.com Back to Top 1


https://t4tutorials.com/computer-architecture-mcqs-from-latest-books-edition-2/
https://t4tutorials.com/computer-architecture-mcqs-quiz
https://t4tutorials.com/fazal-rehman-shamil-khan-niazi/
https://web.facebook.com/t4tutorialsOfficial
https://t4tutorials.com/fazal-rehman-shamil-khan-niazi/
https://t4tutorials.com/
https://t4tutorials.com/computer-architecture-test-mcqs/#top

